
Online Regional Judge Training Quiz 

Aresti Family 2 

 

1. Aresti Family 2 is composed of aerobatic figures that contain 

A. Lines and horizontal corners 

B. One or more transitions from the X to the Y axis with interior lines 

C. Turns of up to 360° 

D. Up to 8 transitions between the X and Y axes 

 

2. Aresti Family 2 rolling turns may be flown with a brief pause after each 360° of roll 

A. Always 

B. When the roll changes directions 

C. When the roll is accomplished in 120° of turn 

D. When the 360° of roll is completed on the X or Y axis 

 

3. A competition turn begins by 

A. Smoothly rolling and pitching into the turn 

B. Rolling to a 45° bank 

C. Rolling to at least a 60° bank while holding heading 

D. Rolling to a 90° bank 

 

4. In a competition turn, the bank angle may be 

A. Adjusted to correct for wind 

B. Changed when turning through the X or Y axis 

C. Increased but never decreased 

D. None of the above 

 

5. A power competitor executes an Aresti 2.1.1.1 turn and is observed to climb 200’.  The score 

downgrade is 

A. 0 pts 

B. 1 pt 

C. 2 pts 

D. 4 pts 

 

6. A competitor flying a Family 2 rolling turn 

A. May fly any roll rate 

B. May vary the roll rate so long as the aircraft attitude is wings-level upright or wings-level 

inverted when on or crossing the X or Y axis. 

C. Must fly a constant roll rate 

D. A and C 

 



7. A power competitor flys an Arest 2.4.6.3 rolling turn.  The second of the three rolls is observed 

to be a snap roll instead of a slow roll.  The score downgrade is 

A. 1 pt for change in roll rate 

B. 2 pts for change in roll rate 

C. Hard Zero 

D. 4 pts for change in roll rate and roll on a line. 

 

8. A competitor executing a rolling turn reaches the exit heading with 15° of roll uncompleted.  The 

score is downgraded 

A. 0 pts 

B. 1 pt 

C. 2 pts 

D. 3 pts 

 

9. A competitor executing a 2.3.2.3 rolling turn climbs 100’ during the first 90° or turn, then 

descends 100’ during the last 90° of turn.  The score downgrade is 

A. 0 pts 

B. 1 pts 

C. 2 pts 

D. 4 pts 

 

10. A glider competitor begins a 2.6.3 rolling turn with a 15° descending line and is observed during 

the second roll to be flying a 5° descending line, exiting the figure on a 5° line.  The score is 

downgraded 

A. 0 pts 

B. 0.5 pt 

C. 1 pt 

D. 2 pts 
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Answers 

 

1. C 

2. B 

3. C 

4. D 

5. C 

6. D 

7. C 

8. D 

9. C 

10. D 

 


